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dic—dlge X1 BTl Y < | :
4. W%mmgﬁaﬁ%mﬁawaﬁﬁfi‘ﬁmwmﬁémuﬁ&mgﬁmﬁr%:ﬁﬁ%’qn
< gt BT g BN
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W#mmﬁmﬁﬁmﬁmﬁaﬁ%amﬁ@ﬁwmgﬁammmm
. Tad STl & forg qus :
TR-7=P § IR g g TG e S B Y wvs Ry sy
() s w2 b o R dwfoad ST ¥ | SRR 1 5ok e 3 Ry iy g v rer g @ g
&g P forg 9 ot 1 TR TS 9 arr s
(i) afe B¢ e g § I I E A T S a1 om, wwy g v ¥ 4 o
SR Y e &, o A 97 9 K ST & 5 e a1 v o o
(iii) ﬁﬁﬁﬁmﬁ?mﬁﬁmwgaﬁ'mquﬁmmiﬁwm
% forg i oS T o | -
4 S IE e gRAT @ A e p—
Note: Engﬁsk version of the instructions is printed on the back cover of this Booklet, =~ ——
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10. Which of the following is not a part of the

<1 37y Article 20 of the Constitution of India?
oTg s (a) prohibition Against (D) Prohibition against
= Wy Torture Self Incrimination
(c) Ex-post Facto Law  (d) Double Jeopardy
Clause
11. ‘Milind Panho’ is in the form of a dialogue
PI opy? between King Milind and Buddhist Saint, The
concerned saint was -
(a) Nagarjun (b) Kumaril Bhatt
(c) Nagbhatt (d) Nagasena
F P 12. What do we call balancing the need to use
resources and also conserve them for the future?
(a) Future resources  (b) Resource
conservation
frg (c) Reducing‘ (d) Sustainable
P consumption development
% 13. Match list-1 with list-ll and select the correct
answer using the code given below the lists —
List = :
. Book
(A) Mirat-e-Sikandari
Ca|

(B) Burhan-e-Masir
(C) Riyaz-us-Salatin
(D) Riyaz-ul-lnsha
List =1l
Context
(1) History of Bengal
(2) History of Bahmani’s Ahmad Nagar
: f (3) Collection of Mahmood Gawan’s letters
(4) Victory of Gujarat
Code -
(a) A-(2), B-(4), C-(1), D-(3)
(b) A-(4), B-(2), C-(1), D-(3)
() A-(4), B-(2), C-(3), D-(1)
(d) A-(1), B-(2), C-(4), D-(3)
14. When was the Census work done for first time in
| India?
| (@) In the year 1861 (b) In the year 1850
(¢) Inthe year 1871  (d) In the year 1881

15. \Which of the following is not an economic

activity?

(@) Transportation (b) Farming

(c) Service (d) Voluntary Social
~ Service

14, YRT § STIOMT BT PR qAuH Fe A T

15. frefeRaq & & B @ i G T

0. frefafag ¥ ¥ @ wxdE GREE @
e 20 &1 o T8l 87
(a) e & fase e (b) w@E 3o faes
el B o e

(c) wrarwrR fafer (d) ETEx TS B HRT
1. ‘ffore gwar o ffa= den @ dlg g @
e HaE ©9 W 2| 9% fAE & —
(2) I (b) GRS HE
(c) ARTHE (d) AT
12. GamEr B SYANT qe Jfas b fiT SE e
B ATl P GGRTd Y B BH a1 DEd
87

(aLufass & warE (b)) WA R
(c) @ud # 4w (d) H\dd [aerd
13. — @ G-I ¥ gHfera HIfT T i
gﬂ"ﬁ?ﬁ m?ﬁi’l de W G SR Y —
-1
{A?E?Tﬁ-q—ﬁmﬁ @
(B) REF—T—HIRR
(C) RAS—SH—cfa=
(D) Rars—Sei—som
L L L
IGER
(1) dTTel BT fera
AT G S et o 1 i 2 A N
(3) B9 i D U BT GUE
(4) TR faera
EE: —

(@) A-(2), B-(4), C-(1), D-(3)
(b) A-(4), B-(2), C-(1), D-(3)
(©) A-(4), B-(2), C-(3), D-(1)
(d) A-(1), B-(2), C-(4), D-(3)

oIT?
(@)=Y 1861 ¥ (b) 7 18507
(¢) 9§ 1871 # (d) o 1881

[D-1-23] 153101

Page 3 of 32

X (b) foparT ()

il () zafTD AT 4l
ey
IH \IIIII\H\HH\\IIIIHMIMIIHNIH



15|- = a";— o 1 Ei'
16. Wi

rt, 2021-22, which of the following 79 BYar B 8 /%
Report,
statement is/are correct? <

i )78 s Saremior # R @ 900 2020 %
(1) India’s rank on the Human Developm a0 ¥ 1328 TE
Index has upgraded from 130 in 2020 to 132 0¥ S99 8y 2022 |
in 2022. | : (2) 719 Ty ADIh H Rd B 2ol 2020 3
(2) India’s rank on the Human Develupmef.'l st , !
Index has stipped from 130 in 2020 to 132 in 130 % 2022 A 132 %P IR TE 7 |
2022. %ﬁﬁﬁ?wwm_ﬂ%ﬁﬁiﬁrm
Select the correct answer using the code given -
below — , Fe _
Code - 2 _
(@) Only 1 (b) Both 1 and 2 (@) Baer 1 (b) FF 1 Tq 2
(¢) Only 2 (d) Neither 1 nor 2 (S} Bae 2 RS B |
17 Who among the following: is the first women 17, AETAT B Yorm Afge Wew e 5 DI &7
{S;;eaker in Lok Sabha? o , h (8} BHR (b) 3fferr Rie
d) Meira Kumar Urmila Sing
C) foHT gifes d) HYHT TGRS
(€) Pratibha Patil (d) Sushma Swaraj [ @
18- Which of the following statements is not true 18. ﬁfTﬁ’ﬁ-‘»}ﬁaﬁ BT H ﬁ AT AT B Gaer § DI
regarding ‘Gram Sabha’? a9 T8l 27
(@) It has the powers and functions at the village @) 9% a1 iR vy IH ¥R W) 39 yoR-
level, like state Legislature has at the state g oY IS IqRIiuaT o S ®R 9R B8R
. level. g | '
(B) Its powers are determined by the Centra| (b) sHHT MIES P hT ﬁHﬁUT Doy IR &H
Government. &N BIdT g |
© It is a Village Assembly consisting of af| CLAE Th W ww o) T B, R vang o
registered voters in the area of Panchayat. 8 P ) USIHd Aaerar et 81y 8
(d) (a) and (c) both @) (a) TAT (c) 2}
"9 World Social Protection Reportis published by - 19. fyeq WIS &7 RS wrapmferg o WAl & —
(@) World Bank () International Laboyy (@) fdeq §% gry B STy sy
Organization e ERT
(¢) World Economics (d) World Health

Forum

20. The “NISAR satellite” js Jointly developed by 20. “Ryr SUUE" fAfarfye ¥
which of the following organizations? '

Organization

b Wrest gry
N SRINRR R Gk B &7 |
(@) ISRO and NASA (b) ESA and NASA (@) T 3iv 7 b) ST s - |
(¢) ESA and ISRO (d) ROSCOSMOS and (€) 3u9.U ik SR (DR R IR < !
CNSA | SERGERY '
21. Al elections to the Panchayats are conducted = 21 TR B Hov 191 BT e DRAT & —
py - ' |
(8) State Election (b) State Legislature RS Fafer sy O I @ reenfyes;
Commission ©) RS B fafem (g) TR T Sy
(¢) Election Commission (d) Panchayati Raj
of India Commission

[D-1-23] 153101
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22. Example of Lotijc Et“"-‘*?ﬁte
m

23.

24.

25.

26.

27.

28.

- (a) 1974

29.

[D-1-23] 15310]

IS -
(a) Ponds

(c) Marshy areg

Which of the fD“Dwing is
against Covid-19 infections
(@) Sinovac '

(c) Sputnik

ITIHNA vaccine LI'SEd

®) Mog B

[d} NDUa
Which among the follo Vax

abolished Zaziya and ¢,
(@) Zain-ul-Abidin

(¢) Shamsuddin Shah
Which of the

Wing ruler of Kashmir
wsiaughter?

(b) Sikﬂndar Shah

following SCOrpene  (Class

MMissioned into 1nd
in January, 2023? Indian Navy

(@) INS Karanj
(¢) INS Vagir

Consider the following deserts and arrange them
in increasing order of their size (from smalest to
largest) —

() Great Sandy desert

(I) Arabian desert

(I1) Sahara desert

(IV) Gobi desert

Select the correct answer using the code given
below - |

@ 1, 1v, 1, Il () 11, 1, 1N, IV
©) 1,1, 1V, 1l (d) 1,1, IV, I
Seaweeds are important source of -
(@) Argon (b) lodine
(€) Chlorine - (d) Bromine

When did the Water (Prevention and Control of ~ 28.

Pollution) Act was enacted in which of the

following year? _
(b) 1976

(¢) 1975 . (d) 1977

In National Parks, Genetic diversity is maintained 29,

by -
(3) In-situ'conservation (b) Ex-situ conservation

(©) Gene pool (d) None of the above

22.

23.

24.

25.

26.

27

ereforRaa IR TR faER BN T S
SE ATHR B god HH § TR DIV (a4
BIe 9 999 fawgd d6) —
(1) 3 AT FHwRI *@;
(1) 3R T ~&
(1) g2t 7o — ) —
(Iv) Y overer — @

A Ry 0 e | 98 SR gy —

(@)1, IV, I, 11} ()11, 1, 111, IV

©) 11,1, 1v, i @t 11, 1V, I

s Raret fhHs Hexaye! g 87

(a) rts B (b) 3MAEA P

(©) TN B (-8 @&

W (o™ vd gewer friE) AR 7
FrferRa & & fp et ammar 117

(@) 1974 # @{Q?Eﬁ

(c) 1975 (d) 1977 H

TS e 4 i R 7T
T S g — mﬂmwmmﬂ

_@m—@i HREoT gl ::; ﬁﬂﬁéqﬁ

(c) SF qoT gt
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ch of the following (Scheme — Year) is not 30 =R i pH U (ror=T — qY) &)
0. Wwhic T
3 correctly matched? E;"fl“m el ?} 5
(a) Rural Housing Interest Subsidy Scheme - 2017 X BTISRYTT grevvwe qfeast Wy — 2

. (b) sansad Adarsh Gram Yojana - 2014 (b) Hivge f e ler ty
(c) Shyama Prasad Mukherji Rurban Mission - TST+T]

(©) a7 YR gafl Serds e — 2015
2015 {dlaﬁ#waammquﬁwm~
(d) Deen Dayal Upadhyay Gramin Kaushalya 2014 —
Yojana - 2014
31.  Among the following, which country has declared 31- 2 BRI, 2023 &, FreferReg q 9 fy QY |
to remove the British Monarchy from its Central B §F D T B e fafeer <rorems:
Bank Currency Notes on 2nd February, 2023? Bl T Y YT P17
(@) Nepal (b) canada (@) =a7eT (b)wre
(¢) Australia (d) Sri Lanka (€) stregferan (d) sfciepr
32. With reference to the “EL-NINO”, which of the 32. A" B e H, Efated s 59
following statement/s is/are correct? CBF AT/ R Va1
(1) El - tNi::h invuh;esf Eppe.arance of w:?;m (1) 3re—=rT 3 T‘ﬁ U &9 F U% @ ge i
current or the coast of Pery In eastern pacific. ¢ | R
(2) This warm current increase the temperature TH I Gl %J
of water on the Peruvian coast by 10°C there (2) IE T 9N U B e w® Tl & AIEN P)
by increasing the amount of Plankton in the 10°C 9% 9e1 <<l 8, foram g § Sipeq
s DT AT ¢ 1 2 |
Select the correct answer using the code given $r Rt o oe W wh S
below —
Code - RE = |
(@) Only 2 (b) Both 1 and 2 (@) Baer 2 (b7 1 vg 2
(€) Only 1 (d) Neither 1 nor 2 (¢) Baer 1 @Iar1md2
33 Ini2918" s United Provinces Kisan Sabha was 33. 1918 & HIFT qid fbam ST BT TS = 3
formed by which of the following leaders? W f o e
| ‘ (@) U, SR <1t e (b) q1ar weee
(@) Pt. Jawaharlal Nehru (b) Baba Ramchandra 3
(©) Swami Sahjanand  (d) Indra Narayan {W HeolH—< (d) 3% IRRIOT 398 3 |
Saraswati Dwivedi AT |
34. Which among the following organisations was 34 faefoiRRag & q B Hod ficeil § armRi
responsible for throwing a bomb at Viceroy Lord dre BIRET WR a9 BHy B fore Saverft o
Hardinge in Delhi? ' G
. q L (a) FTEcs ufedifRes  (b) s AR HUTGX
@) United Patriotic  (b) All India Labour . L
Association | Association | |
1} ©) Yugantar (d) Anushilan Samiti @W (@) &g
Plane of which Airiine crashed in Nepal in 35. Gt 2023 % e VRS BT AT STt 4
lanuary, 20237 | i o
@) vet; Airline (b) o | Sl
(©) Tara Airline
Nepal Airline

(a) Ay Taveng (DXART Taverss
9 Buddha Airline (VA uTeT ToRemgs . (d SOt

Page 6 of 32 O O
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36. Who is the Author of the famouys Novel “All the °© : Rree
Lives We Never Lived”, which received the GRig Sy “aifer g arged di AaR_f ®
Sahitya Akademi Award, 2022? SAEh DI 14 o3
(@) Shobha De (b) Anuradha Roy (@) T S B Al
() Anita Desai (@) Sudha Murthy (©) ahar 2w (R A
37. Which statement is true for Finance Sector (Fiscal " Hd goic—2023 ; ﬂg;%? (
Management) in the Union Budget-20237 sae) @ o B w1 G i '
(@) Budget estimates 2023-24 for total (a) 2023-24 & duic AN H heol AJ 55 oy
expenditure is X 55 lakh Cr. BNIS v T
(b) Fiscal Deficit 2025-26, the target is to be (b)2025-26 forg SIS e Pl 5.5% % <
below 5.5%. ' G BT A |
(¢) Fiscal Deficit of 3.5% of GSDP allowed for () SNTALLG. BT 3.5% AP T B 7o)
states. T STAfT |
(d) Twenty years interest free loans to states. (d) i BT 9 a9 & folg TS Ja oy
°% Which of the following (Union Budget 38 fr=ifafad & & ®IF TP (@1 avie famm
Departments 2023-24 - Allocation amount 2023-24 — A arafed T %) Wl gHfera
approx. < ) is correctly matched? . 87 :
(@) Dept. of Health Research-—Z 9 155 Crore (a) TaTeey oY fAURT — 9,155 HRIS
(D) Ministry of Health —¥ 89,155 Crore (b) wTRRT AT — 89,155 BRIS 3T
() E,-E;E of Health and Family Welfare -2 80,000 - {ELW Ud URaR ST "I — 80,000
(d) Pradhan Mantri Jan Arogya Yojana — Z 5,000 ' ‘?
Crore (d) FeTTH=0 ST IR AT — 5,000 FRIS 2
39. With reference'nf the election of the Vice = %9 9Rq & SwIgufy &1 fafq, AR W=
Sinreme Gl af IndiSbw RN oF el iog BB [oITear S o o 8, 3 i .
of India, whi e : - :
staiementz’slilsfare correct? i i M T NS /9 WEl © /57
(1) The acts done by him as Vice — President (1) STIECUIT & %4 # 39 YR ) gy § Ud
before such declaration are considered valid. SHD R fby g BRI g1 8 |
- . n . y —
oo e (1 el | 0 L Al G
valid. : _Eﬁﬁﬁ; SRLIE oy ﬁ '
Select the correct answer from the code given N I
below - ﬁqwaﬁﬁﬂﬁwwwaﬁmﬁ
Code - =
(@) Neither 1nor2  (b) Only1 @Fdr1er& 2 (b) Baet 1
() Only 2 (d) Both 1 and 2 (¢) Baer 2 (@) 25 1 e o
%0 Which one of the fnllnwing {Plat?e oftherevoltof 40. fymfaRe § o BT T (1857
1857 - Start of rebellion) is not correctly | BRI RS 5
matched? ~ T=TE a7 SITRY) WeY gAfor ey 27
(@) Lucknow —4 June, (b) Barrack — 29 March, % - 2 5 _
1857 1857 * %‘iﬁ ~ 29 {1
(©) Jhansi—11 May, (d) Meerut - 10 May, 1857 1857 |
1857 1857 C) ST —
[‘b-l——-_____ ., 1857
~1-23] 153101 Page 7 of 32
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H. 1Y MfRge Aregd e gTal & 4 AU g
P Wk § Praffe woei F & @

15 With réference to-the Pope Benedict XVI, who

died recently, which of the following statement/s

is/are correct? Wl AL%’/ e
1. He was a native of Germany. 1. 98 S+t 3 bl IGEIE: ] o |
2. He was the first Pope to resign in 600 years. 2. 98600 g5} ST 2 97 gga 9y o |
' h de given
Select the correct answer using the code g 1y foy T e ¥ T - gﬁ’ﬁﬁ 2y
below — Be —
Code - - : J‘
) Haoy
(@) Only 2 (b) Neither 1 nor 2 2 93T T 17 51 2
(©) Baer 1 (2T 1 v 2

(©) Only 1 (d) Both 1 and 2 &
N . :
2. Tappa style of music was refined and developed~ “2- Hifilg & =y el o 79 et

In which of the following Mughal Empernr’&' HHE & TN qﬁ% U9 fIpfyg E—S‘?

Court? ' | :
M‘s'nﬁ-\r (b) 3rpaw

(@) Jahangir (b) Akbar
- () Shahjahan (4 Muhammad Shah (©) 2rgsr ) Gemre e
: 0 A
RS- The Xxylem i Plants is responsible fﬂﬁ 43. gy 3 SlIZeH 9R9ET 3 fery Rmer BIT & —
transporting - T s '
| - () 3TeRfITT (b) TR vRye
(a) Oxygen (b) Amino Acid A
(©) Water @ Food i % B
- Which of the following statement i true? 4. FrefaRag o B AT BT ey 87
@) Tide comes on the earth every day after (@) godft uR gfifes S 12 52 30 e 91e WR
€xactly 12 hours 30 minutes. N Sl AT & | ‘

(b) Benguela.current IS a cold current of thg\l-

Pacific ocean T b) e srerier, wareme o UH SUSH &NT 2|




46. - th |
Match list-l with list-| and select the correct 46 AN

47.

48.

49.

answer using code given below -
List - |

List - 1l
(Diseases) (Factors)
(A) Peptic ulcers (1) Virus 1?:3
N

(C) Elephant Foot \::3] Worm :}HJ
(D) Malaria | 4) Bacteria
Code -

(3) A-(2), B~(3), C-(4), D-(1)
(b) A-(4), B-(1), C-(3), D-(2)

() A-(4), B-(2), C-(3), D-(1) S
d) A-(3), B-(), C-(2), D-(1) -
Which officer was known as ‘Bhagadugha’ during E\47.
Vedic administration? e
(@) Revenue Collector (b) Messenger
(¢) Chief Officer of (d) Chief Officer of the
Forests Gambling
Department %

Which among the following is a constituent of -\ 48.

-

natural silk?

(@) Phosphorus (b) Nitrogen >
(€) Magnesium (d) Potassium
Which of the following events was the last in 49
chronological order? w0
(@) Jallianwala Bagh  (b) Moplah Revolt &
Massacre E
(€) Khilafat Movement (d) Home Rule -,
Movement

With reference to mineral resources, which of 0.

the following statement/s is/are correct?

1. Lithium’s inferred resources have been found
in Reasi district of Jammu & Kashmir.

2. India is import dependent for many minerals
like Lithium, Nickel and Cobalt.

Select the correct answer using the code given
below —

B A | gAfera BT qen H oy
@ﬁawmmﬂﬁummlw

DIy —

3 - gl -
(cfe) (PRD)
(A) uftess gor (1) fammor
(B)ST (2) sersitan
(C) ®IeT Uld (3) P
(D) HeilRaT (4) fesTop

agﬂ’ —

(a) A-(2), B-(3), C-(4), D-(1)

(b) A-(4), B-(1), C-(3), D-(2)
(c) A-(4), B-(2), C-(3), D-(1)
() A-(3), B-(4), C-(2), D-(1)
AfeP FrolF TR H 9FIgE B ARGRY or?

(a) IISTET HX AT e (b) FAMR YgaAM dredt

CISI ey
(¢) STl BT eI (d) S fA9RT 61 Y
i IEaR ' SIBEAR
?ﬁ%ﬁaﬁﬁﬁwﬁiﬁ%mwww
X _
(a) BB i  Eam e
(¢) H=NRrrm (d) greferm
BIAPT DI e | F=faRed el § 9
BT Sifcr ofi? a
(@) Sferaarer At © (o) wgen fEe — \ N
ETHIS ~ o
WWW; (d}aqma?maqfﬂ

Eﬁtﬂﬂwzﬁmﬁﬁ,ﬁﬁrﬁ#@ﬁzﬁaﬁﬁﬁ
BN AT /A HEY & /7

1L VR-59R & Ra R 3§ SPrm o
AN HUeT YUveR oy &)

Code - e
(@) only 2 (b) Only 1 %
(¢) Both 1 and 2 (d) Neither 1 nor 2 :a} < zaﬂq (b) Baer 1
¢ il 2 d .
[D-1-23] 153101 B d 74y 1 AT & 2
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{

1. e
| resources should be used by the present 51 Tefeye ST BT qa8M G} 2] ¥ UPR
51. Naturalre

s h a way that if there is minimum
tion 1N sUcC
genera

' 3'”"'%375?@%%%%257%
adation of natural resources, then what kind
degr

of development would it be called?

B @ T8 59 R w7 R BETT]
' (b) Sustainable
(@) Organic (a) g
Development Development Sifdep fasra [ﬂ(ﬁ EEAES]
(¢) Social Development (d) Economic -@Tﬁqﬁ_‘ﬁ - (d) sffes
Development

92. The resignation letter by a Jud

ge of Supreme 52
Court is addressed to - '

T ey &
(@) The Chief Justice of (b) The President (a) TR = e ﬁl}/w o
India RATTefror I
(¢) The senior most (d) The Prime Minister - :
Judge of Supreme | (©) Hafe AR & (d) UETHAT &Y
Cout | Erﬁ‘faaq ~ATITENST )
93. Which of the following is not correctly matched?  53. Frefofag + o DI AT T qAforT T 27
(@) Gulbadan Begum - Daughter of Babur @A feragT qa — EICAEG
(b) litutmish - Father of Razia (b) Segafier — RISTAT & ey |
(©) Hamida Banu Begym — Wife of Allaudin Khiljj (©) &HIeT 919 7 — STCTSEN Raerofy 37 gehy
(@) Shah Turkan - Wife of litutmish (d) =8 g — FGAAT B ey
94. Which of the following Provision is a part of both  54. FeforRae q 9 b7 19T Sifa oo i
Directive  Principles  of State  Policy and .

Fundamenta| Duties?

3 T 27
(@) Participation of workers in management of (@) Tl & yaey 3 DHRI BT 9RT o7
Industries _ (b) BT GREToT
i () Protection of environment

() Guardians to_ provide opportunity for (©) SARTaS ==t BT Rrerr SRR fererarg

education to children - (d) 99 9rRe Hfegar
(9) Uniform Civil Code

to the scheme wise allocation in 95 HHRT go7e 2023-24 H ISR & 3TN 3Tde
‘q%ﬂa’#ﬁ,ﬁwaim‘fﬁ'@rﬁﬁ'm/ﬁw
E‘;‘:’W'ng staternent/s Is/are correct? : '

: el 8 /87 Xk,
OMpared tq the previoys year, highest (1) fver af 7 s i I I e 3@ e H
4 Pereentage of decline has been recorded in i gfeera wexdt aof @) w2
y ':‘2] = a“'ﬂ‘:atiﬂn fﬂr MGNREGA -
cumﬂared to ¢t *

H Sl ST e Ry
he preyi : (¥ ToBe af @ qemr
PerCentagy : Previous year, highest : : gfererd gfe a5 @ T
the tic.: fEl’n::ﬂw.rth has been recorded in ¢ 39ed ¥ waifrs

hE‘-uw___ COrrecy answ €van MTSSEDH. fral -E"\l'

T RA T we w1 g ave wd@ TR @
i T BT —
=) Oniy gt o RE —

M2 gy |
O




56. Match list-l with list-ll and select the correct
answer using code given below the lists —
List - |
(Theories of Population)
(A) Optimum Population Theory
(B) Social Mal-adjustment Theory
(C) Demographic Transition Theory
(D) Population-Food Supply Relationship Theory
List - Il
(Propounders of Theories)
(1) Thompson
(2) Malthus
(3) Edwin Kennan
(4) Henry George
Code -
(a) A-(1), B-(2), C-(3), D-(4)
(b) A-(3), B-(4), C-(1), D-(2)
(c) A-(2), B-(3), C-(4), D-(1)
(d) A-(4), B-(3), C-(1), D-(2)

57. Which one of the following (Tributary — River) is
not correctly matched?
(@) Manjra — Godavari
(¢) Pranhita—
Mahanadi
58. Consider the following
reference to Uttar Pradesh —
(1) Forests constitute about 12.8% of the total
geographical area of the state.
(2) The districts of Jaunpur, Ghazipur and Ballia
‘have no forest land.
Select the correct answer from the code given

57.

(b) Hemavathi — Kaveri

(d) Malaprabha—
Krishna

statements with 28

below —

Code -

(a) Neither 1 nor 2 (b) Both 1 and 2
(¢) Only 2 (d) Only 1

59. Which of the following statements is correct

about laterite soil?
(1) This soil is developed in areas with high

temperature and heavy rainfall.
(2) It is poor in iron oxide and aluminium.
Select the correct answer using the code given

below —

Code -

(@) Only 2

(¢) Both 1 and 2

(b) Neither 1 nor 2
" (d) Only 1

56. -l B G-I W gafera HIRT AR A fig
Y G BT FANT B §Y Hel SR GHY -

59.

)
(e & Rigid)
(A) Sugd s Rigr
(B) ArHITTR o= RigT
(C) ST JshAT Rigid
(D) STHEEA—@reT= JMgfd RiErd
gl -1l
(Rigial @ dfaars®)

(1) AT

aga —

(a) A-(1), B-(2), C-(3), D-(4)

(b) A-(3), B-(4), C-(1), D-(2)

(c) A-(2), B-(3), C-(4), D-(1)

d) A-(4), B-(3), C-(1), D-(2)

Frafefad 3§ & @9 91 (e T4l — F<)) Hel

hferd el 7
() FHoRT — TN (b) BHTEC — BT
(cyamifear — "eFal  (d) HieTTE T — P

SR VoW & wed A fefeRad HUEl W f9ER

PTG —

(1) 5T & Hel Aierd & BT ATHT 12.8%
a4 & |

(2) STHWR, TSGR Sk afeEn R § @R 9
SISER |

4 T U Be ¥ el SR N —

ﬂﬁ;.—
(@ @l 1 A &l 2 (b) SFi 1 Td 2
(¢) Baal 2 (d) daat 1

Srefarfag oAl § o eexge AH & Qg
BN 9T HAT Tl B2 .
(1]aﬁﬁ@ﬁmﬁqﬁmﬁwmﬁaﬁﬁ
~ Ryl 2 2|

{Wﬁé’fﬁﬁ%@mﬂﬁ@mﬁmaﬂ

HH IR STl ® |
#R RT U g | & ST I —
'@_
(a) dddl 2 (b) 5 &1 197 &1 2
(C) ST 1 7= 2 IW]L

[D-1-23] 153101 Page 11 of 32
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60. Charak Samhita is divided
chapters and sections?
- (a) 80 chapters and (b)

Into how many

60 chapters and

/ sections 8 sections
(¢) 120 chapters and (d) 100 chapters and
8 sections S sections

(@ P.M.I. services Withesse
since July, 2022

country.

Due to the r3
Population, the

Reason (R) - Pid increase in

() Both (A) and (R) are
explanation of (A)

®) (A) s false byt (R) is true

true but (R) is not correct

. mﬁf%wﬁ‘nﬁ#@ﬁrmﬂﬂv@@ﬁﬁmﬁa%?
(@) 80 arexry IR 7 e

() 60 3y IR 8 we

(c}%ﬁ?sm{d} 10031‘&211::31“!?5?5{':5'

61. ﬁmaﬁz%ar%ﬁarrfé‘fmﬁﬁwznza H, FrferiReg
aﬁﬂ%ﬁﬁiﬁ‘ﬁmiﬁmﬂﬁ?ﬁ%‘?

T &} eqr |
(b). (A) Torey & fh=g (R) ey 2

©) (A) 3R (R) S W & 3R (R), (A) B v

T T



64. Which one of the following pairs (Schedule -
Subjects) is not correctly matched?
(@) Third Schedule -
Affirmations
(b) Ninth Schedule —
Council of States

Forms of Oaths or

Allocation of seats in the

(c) Eight Schedule — Languages
(d) Tenth Schedule - Provisions as to
disqualification on ground of defection

65. In which year, “Mid-day Meal ScHEM Lt aS
renamed as “P.M. Poshan Scheme”?

(a) 2019 (b) 2020
(c) 2018 (d) 2021
66. Which of the following is not a biodegradable
polluter?
(a) Faecal matter (b) Urine
(€) Domestic waste (d) Pesticide

67. By which of the following Acts, the system of
‘Chamber of Princes’ with 120 members was
created?

(@) Act of 1919
(€) Act of 1909

(b) Charter Act of 1853
(d) Act of 1793

the credit goes for the
and sugarcane

68. .To whom does
development of
agriculture in Philippines?

(a) Spanish and (b) Hollanders
Americans
(¢) Britishers (d) French

69. Who among the following women freedom
fighter was not associated with ‘Quit India
Movement'?

coconut

(@) Matangini Hazra  (b) Kanak Lata Barua
(¢) Shanti Ghosh (d) Aruna Asaf Alj

70 Which of the following (Port-Country) is not
correctly matched?

(@) Montevideo —

Uruguay

- (b) Rotterdam —
Netherland

(©) Igarka — China (d) Jakarta - Indonesia

4. Pt el % e g (@R # AT
— fwa) wd) gafera 8l 87
(@) 78 et — 2 2 SRS @ A
yﬁalﬁ?ﬁnwmﬁ?wﬁw
(c) 3madl ST — MUY
(d) ggdl aggdl — T URAdd & SR W

[BEESL

65. “HeTeE HIl= Al B “ULTH, TNy Ao H

forey o ge=iifae febhar e

() 2019 # (02020 ¥
(c) 2018 H (d) 2021 9

66. faiferRa # A BI T IRNSUSTA IgHF el
7
;ij el qaref (b) 73 @
(c) ERey Juldre (dY BIcHEIb

67. f=fafaa # 9 fba FfRfTa gry, 120 eIy
dlel “IWR ST =49 &Y Fawem &t g oAY?
(@) 19191 A (b) 1853 HT =R Tae
() 1909 1 e (d) 1793 &1 fRfam

68. @Wﬁﬁ_ﬁ@wﬁﬁﬁwm

O e o &2

(a) W q (b) BfctveaiRigy o
() faeaaar & (d) TR &1

o9 i ¥ § B aRer wdEar S
BIST 3Male | e a8 22

BY AR &rorr (b) BTh orar g

(©) =mifey &Ny (d) 3R 3TAH 37l
fFr=iferRas & 31w (geRmE—<?T) wd e
el 87

/0.

[D-1-23] 153101
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71. With reference to the SCO Film Festival-2023, 71- ugfraf: fﬁa—cmr_ @Fﬂﬂ—ZDZE Gy ?Ft;"ﬁ‘ H,
“ which of the following statement/s is/are - =t st & 9 @y a1t/ gel g /87

correct?
1. The SCO Film Festival is being held during

India’s  Presidency of the Shanghai
Cooperation Organisation,

}nw.ﬁeﬁ, e Feicad & vt o Gl
2. SCO Film Festival will showcase the films from

‘ fhed fewars ity |
the SCO countries. . | M Ry B BT TN P TE IR @
Select the correct answer using the code given
below — S DIV
Code - RE =
@) Neither 1nor2  (b) oniy 1 @7 dr 11 & 2 (b) waet 1
(¢) Both 1 and 2 (d) Only 2 (O3l 1 7g 2 (d) ®aer 2
= Which one of the following (Lake — Country)isnot  72. ;ﬁ;g’f@ﬁ 4 P (ire ~é3T) el '\ﬂ'f-TFc?iF[
correctly matched? :
() Onega - Canada (b) Baikal - Russia (@) ST — PareT _@Kﬁiﬁﬁf — Y9
(¢) Maracaibo— (d) Michigan — United (S IRTHTZaT — (@) i — e
Venezuela State of America éF'\TTg,’QFIT XIS 3MRPT
73 Who has written the book “From Dependence to ~ 73. ‘BH feusy < % Remig” XD & oiddh
Self Reliance”? 8 —
(@) Y. Venugopal Reddy (b) Raghuram Rajan (@) 913, ?Tﬁma Vel Lb‘)/?gw:r GG
(¢) Bimal Jalan (d) C. Rangrajan (©) fqua NI (d) 1. IRTo

the powers of the Supreme Court to issue certain I & 1w Re ooy D D ARG D Faey

Writs to stop violation of Fundamental Rights — I HU fu 7o 27 |
(1) The Supreme Court has power to issue writs (1) S=adq <R @y I8 vk yeg g f& g
like Habeas Corpus, -Mandamus, Prohibition, EH| U Ih T URHTQY, gfoNy, sfer —
Quo  Warranto and Certiorari which is 7707 3R I Re. o o A SRHRT )
ppropriate  for the enforcement of S B % [ G =), 99 Re a7 g
Fundamental Rights. 3 DY TPl B | ,

(2) Parliament may by law empower any other (W G| ARPFR 2 5 d€ PBIT g7 B fbel)
court to exercise within its jurisdiction the I NRTAT Bl T afeIRE ey
Powers given to Supreme Court. M1 & iR Seaaw <rrerg 9 & Ty 39

Which &= Sonisi e above mentioned STl BT AT Y T 2 |

statement/statements js/are correct? SWRIKT Bl W BT/ IR ) g /87

Select the correct answer from the code given Ta g T BE A W WE IW B AT

below — | BIfTT —

Code - ; e —

[[2 Ezrt’hi » (®) Only 1 (@) Bad 2 (b) et 1 ‘

. Wi o G:;; 2;0" _{dJ Fnth 1and 2 ©F ar 147 & 2 B (@ 3R 2 E:’Fl‘r
total oy Ry ih the Un?wmg 'S not true about the  75. EBTsﬂ'J qofc 2023-24 ¥ E@Ff IRe & fofiRag
@) Inter St payment o EUdgEt e A ¥ B W e w e B¢ |
{20%] (b) State Share of taxes (@) &re HIATT (20%) (b) &) Tq w 5 I
® Defence and duties (18%)

i Ce (8%) ) Subsigi Al A
M Sidies (9%) | ‘ (©) ReT =17 (8%) %ﬁ‘ﬂ:ﬁ (9%)

_—_-_'_'———.____
Paca St




/6. Who among the following has been named asthe /6 ﬁlﬂ%ﬁ‘ﬂﬁ "9 ﬁ'TxET SN, %023 H W.“é'“@ b
Prime Minister of New Zealand in January, 20237 Hm P ®©Y H AT Tl %: o
(@) Jacinda Ardern (b) Cindy Kiro (a) ST ereH Wﬁi{ﬁ :
(¢) Carmel Sepuloni (d) -Chris Hipkins (¢) BTHe AT (d) fps %qﬁﬂ; S
77. The aquatic plant mn:*.mn.niy '...JSECJ' as bio fertilizer 77 @aiﬂ'ﬁﬁiﬂ glel E?iqﬂg N[ mﬂm ot
in the water-logged rice field is - 5 SEREE SRy SAIC]
(@) Wolfia (B) Trapa (a) ST (b) =TaT
(¢) Azolla (d) Lemna (Y TS (d) o=
78. Which of the following is/are the type/s of 78 ﬁmﬁfﬁ'ﬂﬁ H 9| P/ e a1/ geR
poverty? S /et
(1) Absolute poverty (1) Tfr (EITF{) fRear
(2) Relative poverty (2) e P —
(3) Subjective poverty (3) AT Freferar T
(4) Functional poverty (4) qepTaterE R
Choose the correct answer using the code given - v
below — ﬁmwaﬁ L] F 1 2 T4 3
(@) Only 3 and 4 (B) Only1,2and3 | () daet 3 Td 4 {:;’ 1' L
(¢) Only 1 and 2 (d) Only 1 and 4 (c) Baet 1 3ﬂq 2 3 If' ﬁqj:[ i
79- Which of the following elements is not a Noble 79- fy=iferRad ¥ | 19 4T ded Alddl f
gas? (@) IreE (b) fehe= '
(@) Radon ~ (b) Krypton e () oRrefyan
(¢) Argon (d) Actinium | .
7 80. Which of the following hormones is secreted by . 80- fr=ifeiRad & ¥ 94T EE Waﬁ P o oY
the Beta cell of Islet of Langerhans of Pancreas? gﬁ?‘? oI dier W (@RreprAT) gRT EfA
(a) Aldosterone ' (b) Adrenalin | ) .f . B T
(€) Insulin (d) Glucagan ©) SR (d) o
81. Which Indian origin businessman has been 81. ‘ﬂ'\’?’ﬂﬂ T &[5 aaril & ArSYars © dee
~ elected as Mayor of London Borough of R By R o AR ST T 7
Southwark for the second time? |
(@) Gautam Adani (b) Sam Dalton (@) TITH ST (b) 99 TreeH
(€) Sunil Chopra (d) Neeraj Patil () il AT (AL ARS urfes
82. Consider the reign of following Peshwas and  82. FfeRad YRranslt & v e WX AR iR
arrange them in chronological order - AT S PIREPHATTR UgfRerg P —
(I) Balaji Viswanath (1) STATSTT fRroasrer 7 vk
(I) Bajirao | (1) AR | :
(Il) Narayan Rao
(IV) Madhav Rao | (1) STRTerer. 37
Select the correct answer using the code given (IV) 5erer R19 |
below- - ' 1 %WWE@T%E@WW_
Code - ' He —
@1, 1, 1v, i () 1, 11, 1v, 1 | @ 1,1, 1v, 1 (®) 1, 11, v, 11
[D-1-23] 153101 , - Page 15 0f 32
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2 3. ﬁﬁﬁ%ﬁ ' DI FIRET —
h of the following (Poetess — Compositions) 8 il ( IIP) &)
O

83. Whic

‘ﬁ‘ﬁrﬁﬂa f 27
rectly matched? il
s r:cH’b i—Sahaj (B) Son Kumari— Poem (2) \TESTeTE — W (b) |7 FARY — ¥of
SR
@ ﬁ:;f:fh of Swarn Beli HPR] gﬁﬁ DI Bide
(c) Dayz Bai—Vinay  (d) Gangabai— Ganesh (©) TuTEE — ey (d) TamreTs — TrOT9T 2
M%&}E Dev Leela | AfeTepT ST
84. conside! the following statements about 84 Ry fagry o A Y AefaRaa soEl g
sustair%ble development — faem Eﬁlﬁ’ﬁq —
(1) Base< on the global indicator framework and (1) g @D WREAT qorr I AR
data produced. by Nfatiunal “Stft:tu::: CiC S T 8 o
Sysiems and mfnrn:natmn _m ecte Hfra Ef}ﬂ ol e
regional level, the United Nations Secretary S8l EHHP R ‘T
| TN U s Hemof o1e]
Gerieral presents an Annual Sustainable RS 5 ,
Development Goal Report. SI_EQE! P | : a3
(2) Glgal Sustainable Development Report is (2) IRae WW%WWE? e SRR
produced to inform the quadrennial S HE8RPT § QIS FaRMT e
sustdinable  development goal  review & D fAval B REeE Bd UNgd &)
deliberations at the U.N. General Assembly STl & |
once every quarter, | 1 feg T &S BT GG pvep Hal SR &
Select the correct answer using the code given AT PHIRT —
below - B —
Code - {;i
(@) Onf2 (b) Neither 1 nor 2 - O aris o 2
) () &I 1 1 2 (d) Bae 1
(c) Both'1 and 2 (d) Only 1
85, with "&lprence to the invaders in ancient India,

which vone of the fo
chronological order?
(@) Sakas — Greeks —

llowing is the correct

Kushans
(b) Greeks — Sakas — Kushans

- (0O) IR — 1 — BT
. (©) Sakas - Kushans — Greeks (¢) 31 — DT — J71+91
d) Gr %S — Kushans — Sakas

86. Matchilst-| with list-ll and

choose the correct  86. 5l B Wi MK GHfeId BT qorr iy feg
ANSWeRysing the code given below the [ists — -

. TV e ¥ gl S £
List= List -1 T Hﬁm LIl
mﬁ'thilenlngicai site)  (Present location) (qrrenfeass W) - (acw RIT)
(B) é’.’;jﬁr (1) Rajasthan (A) Hars (1) VTSR
| ()0 (2) Tamil Nadu (B) SR (2) ArerTg
| | ] = '
a o uyanave 4 mggfgt"ﬂ (C) Srsar (3) wERIS:
" o (D) Tfsam T (4) Prifcd
| (b) A:{{T'H{ h &4), . e >
©) m‘}' ii  C(1), D-() f%ﬁ) B-(2), C-(4), p-(1)
©) Ay B_}-tai E-L}' 0-(2) ©)'A-(4), B3), (1), D-(2)
R — O

: - 9 A(3),B-(1), c(q) D-(2)
\fﬂ A-(3), B-(4), c-(2), p-(1)
Page 16 of 35—
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87. Which of the following is known .as “World 87 1 Y P A faga deelvSH A @ 5y
Wetlands Day”? § ST 7T B e

(@) 1 February (b) 2 February (@) 1 e {w
(¢) 10 January (d) 15 January 5 (c) 10 ST (d) 15 ST

Ogs. Frefafag 3 A P G PRIHH DRI VSR

88. Which of the following Scheme/Programme is ¢\
not the Central Government Programme and it IS i ] PIAHH el & 3N g8 I U9l PR )

Uttar Pradesh Government’s Programme? EL’ Eﬁ?ﬂ:ﬁ s

(@) Ganga Expressway (b) MGNREGA a} TaIu d (b) HRTI

(c) Pt. Nehru Utkarsh (d) Gramin Swasthya 'Zri%ﬁ JESH Icpy (d) oy e fAEE
Mission . Mission

: ?
89. Human heart is made up of how many chambers? ~ 89: #IFd &< ﬁ‘?ﬁ’}' i (grepT) T a1 BN &
(a) Only three (b) Only two (a) daer I (b)-wdel <
() Only one (d) Only four (c) Badl U (d) pad AR

90. Which one of the following (Passes - States/U.T.) DQD RrefeRad & @ B 1 UH (R — U/ D
o uedl) \E gHferd &7

is correctly matched? <
(a) Mana — Himachal  (b) Aghil — Arunachal (a) \ET — fRATEd ueer (b) SifEre — SroUIe

112

i
Pradesh Pradesh = . L)
(c) Niti— Uttarakhand (d) Diphu — Ladakh (c) Mfd — STRRIS W% — e
91. The Indian Biological Data Centre is being setup  91: ¥Rdild Sifdd SeT Tz fra =g # wiud fe
in which state? ST Y81 27
(2) Punjab (b) Haryana 5 (a) usiTd @Eﬁ'ﬂT‘Tﬂ
(¢) Gujarat (d) Uttar Pradesh Q (€) I[oIRId (d) STR U<

92. Match list-l with list-ll and select the correct -92- ¥l Bl -l ¥ gaferd sifeig T gt @

answer using the code given below the lists — N GICHEC IR G ¥ 8l STR Bl I DIT —

List - | -
(Sustainable Development Goal) (Faa fawr e)
(A) SDG - 10 : A) THSISL - 10
(B)SDG-13 B) TH.SLSHI. - 13
(C) SDG - 14 & /| Tasish - 14-
(D) SDG - 15 & /| (D) wESSh - 15
List - I Al Sial
(Related With) , T (i)
(1) Climate Action ' (1) STty e v
(2) Life on Land ) STHIF UR Siide //;
(3) Reduced inequalities | (3) SRTHIEARI H HH! /
(4) Life below water (4) Ut & AT BT SiaA :
Code - He —
a) A-(2), B-(3), C-(1), D-(4) (@) A-(2), B-(3), C-(1), D-(4)
b) A-(3), B-(1), C-(4), D-(2) MEL B-(1), C-(4), D-(2)

c) A-(3), B-(2), C-(4), D-(1) (©) A-(3), B-(2), C-(4), D-(1)
(d) A-(1), B-(2), C-(3), D-(4) | (d) A-(1), B-(2), C-(3), D-(4)

_ By, 1R




[

|

f

. The r.

the following cities of Uttar Pradesh is

93. which of d as the venue for 11 meetings of 200

- de
o .’;;j:ﬂf G-20 during India’s Presidency of the
sessi
ing P
grouping!
(a) Varanasi (b) Agra
(c) Kanpur (d) Greater Noida

894. Which one of the following place is the
confluence of the river Alakhnanda and the
Bhagirathi?

(a) Dev Prayag
(¢) Rudra Prayag

(b) Karn Prayag
(d) Vishnu Prayag
95. Match list-l with list-1l and select the correct

answer using the code given below the lists :
List - |

(A) Article — 324
(B) Article — 315
(C) Article — 280
(D) Article — 338
List - 11
(1) National Commission for Schedule Castes
(2) Finance Commission
(3) Public Service Commission
(4) Election Commission
Code -

(@) A-(1), B-(3), C-(4), D-(2)
() A-(3), B-(2), C-(4), D-(1)
() A-(3), B-(2), C-(1), D-(4)
(@) A-(4), B-(3), C-(2), D-(1)

Make the pairs of chief rivers of their place of
origin —

Rivers Place of origin
(A) Yamuna (1) Sihawa
(B) Krishna (2) Nasik
(C) Godavari

(3) Mahabaleshwar
(4). Yamunotri

D-(1)

C-(1), D-(3)

1), B-(2), ¢.(3), p.(g)

(4), B-(3), C-(2), (1)

(D) Mahanadi

@) A-(4), B-(2), C-(3),
(b) A-(4), B-(2),
(€) A-
(d) A

93. SR woy @ FfoRag wexi # | DI WT U,

94.

95.

96.

NG &) IIEdl D SR G-20D zﬂuﬁﬁﬁ
119891 & fow wier & wy A e 8l 87

W (b) STFTRT
(c) BTTYY (d) Frex AIgS]

FefoRed % & frw e W sEdT<l T

AR T frercly 27

(a) Sq gamT (b) ST gATT

(S % war (d) =1 SRATT

Y= BT A1 e ARG G GRET @

T e Y e W IR B g —
T — |

(8) A-(1), B-(3), C-(4), D-(2)
(b)"A-(3), B-(2), C-(4), D-(1)
(©) A-(3), B-(2), c-(1), D-(a)
9 A-(4), B/3), C(2), D-(1)
WIRA D1 9@ A 7 I9% ST v @ SIS

@) A-(4), B-(2), C-(3), D-(1)
(b) A-(ﬂ-}, B‘(Z}, C?f]-}.* D'(g}
(©) A-(1), B-(2), C-(3), D-(4)

YT X1 SFRBT 1 JfReh) & G G W
Rera 7y & —
(@) ey

& R e

AN O A




98. Shivanasamudra and Kalpakkam ar

: e respectively 98- PEFETEHE vd Audnsd A fha
important for - P Y g 4 ferg wrereangot

el &7 (@) Th =
ermal Power and (b) Hydel Power and {EV{TN ol T4 (b) St ifaeT g
MNuclear Energ'-,r Nuclear El"lEI'g'lf TS Sl HIADIT FH|
(©) Nuclear Energy and (d) Solar Power and (o) Pty St wd  (d) MR A gd
<1 Ug 55 rlydel Power Nuclear Energy SERICH TG St
* In February, 2023 India’s biggest helicopter 99- WRa¥), 2023 ¥ HRA & HIW 93 gelldie i
manufacturing P!ant was inaugurated in which w5 &1 Seured fAEfafaa ¥ 9 6 wiE w
one of the following places? _
(a) Tumkuru, Karnataka (b) Chakeri, Uttar 3 EU?
Rray & Pradesh {?{H’cﬁi’, FACH ':W* STR F<
(c) Coimbatore, Tamil (d) Nasik Maharashtra ﬂ
o (c) HrEacy, dfferrg  (d) TS, HERTE
"~ 100- Which of the following is known as laughinggas? 100 Fr=ififad & & ey & 91 &= arell 19 b
| () Chlorofl b i g B
|| orofluro Carbon (b) Ammonia () FARITARY B BT (b) mﬁm Gl
(¢) Nitrous Oxide (d) Carbon Monoxide (cyargeH ifrass ®I (d) Zié;l qH1 SHFIES
|' 101. with reference to the representation of Uttar 101. ¥9g # SR ¥ew & ufafafm & wH<d ff,
.'I Prau;lesh in Parliament, which of the following f=fefRaa woAl § 9§ $991 98 & /87
| statement/s is/are correct? 2 : I~ P
.'l (1) Uttar Pradesh has 31 seats allotted for Rajya {1i<ou SR IR e et
| Sabha. [0
(2) 80 members of Lok Sabha are elected from (2) SNHEAT & 80 o ok Uewl ¥ faifm
Uttar Pradesh. DY P '
Select the correct answér using the code given
Sl A fRy T He | w9 s gfig —
1SS Code - s
(@) Both 1 and 2 (b) Only 1 (@) |4 1 7o 2 (b) Faet 1
(c) Only 2 (d) Neither 1 nor 2 (c) 2 @ a1+ &2

102. Role of Human Resources in - Economic 102 anfics sy ¥ wFa WHRA @7 AFTeT & T
development, which of the following ¥, fmfaRad Tomt ¥ 9 a5 w1 /% 58 2/

statement/s is/are correct?

1. Effects of economic development on 1. 3nfRiep T 1 STRiRE g uR ymE |

; p:nfpun‘atit};} growth. 2. ST gfg BT i faem w g |

. Effects of population growth in economic

development. LR RE BT D IR W & SR BT R

Select the correct answer using the code given HIAY —

below — I —
Code -
(@) Only 1 (b) Only 2 ‘ (a) Hat 1 (b) E"\)ﬂﬂ‘ 2
(c) Neither 1nor2  (d) Both1and 2 @admiame2 (@21 3R 2

D-123] 153101 i — NN




f the following is not a sustainable

103. which o nt goal targeted to be achieved by

developme
20307
(a) Zero Hunger
'Y (¢) Good health and
! well being
104. Hangul-deer Is found in which part of India?
(a) In Rajasthan (b) In Kerala
(¢) In Jammu and (d) In Assam
Kashmir
105. First National Centre for Marine Biodiversity
(NCMB) of India is situated at -
J (a8) Puducherry (b) Jamnagar
| (¢) Mumbai (d) Bhavnagar
' 106. With reference to the post’s in Secretariate of the

Parliament, which of the following statement/s
is/are correct?
(1) Common posts may be created for the
secretariate of each House of Parliament.
(2) The Parliament has right to regulate the
service conditions of Secretariate staff of
either House of it.

Select the correct answer from the code given

(b) Gender Equality
(d) Space Research

below —

Code -

(a) Only 2 (b) ‘Neither 1 nor 2
(¢) Only 1 (d) Both 1 and 2

107. With reference to India’s G-20 Logo, which of the
following statement/s is/are correct?
1. The logo has lotus with seven petals.
2. The seven petals of the logo represent seven
continents.

Select the correct answer using the code given
below -

Code -
(@) Neither 1 nor 2
(€) Only 2
1 |
08. Who was ‘Khareetadar’?

@) An officer who wa
trained in keeping

(b) Both 1 and 2
(d) Only 1

ALEBE decrees
©) Main cust '
odian of (d .
royal palace \9) CHief Officer of

i
H 10

103. FreiferRae 3 @ i @ wad fAer o A8 T8 |
& R 2030 w5y Y T eI TE AT &Y 1

':EI}I‘QI-;!;-LEQ Wﬂ'ﬂﬁ?ﬂ ll
©) BT ey v (d) iR S |
LIS
104. Hvg
e %Wﬁwwﬁwwm s
(@) TSTRRI 4 (b) @er o
s (&S] 3R Bedr (d) e
105 MIRT BT W et Rfex R wér araterraRRid)
(@THTHA) Reg & _
(@) ggz=ivt # i
(c) Hag # (d) *reerre
106 ¥¥e @ wfRarer ¥ we @ wed 3 B 3
BITHT /¥ BUF FEY 2 /82

(1) 998 & 4% weT B dfwaem @ R
sifferd gl 1 JRia fbar s w2
(2) 998 BT A fHl N wew B wREes

W B WA IE b RERE e @
PR BT B |

?ﬁ%ﬁqwiﬁ;%ﬂﬁﬂmmlwaﬁﬁ‘m~
ﬁ_ -

() Baer 2 B 171 & 2
(©) Baa 1 (d) =T 1 qorm 2

107. wRa & G-20 it fore @ w3 Py
Bl H | DI G /R TE S/

A e e # | ot aren we R |

iR B 2|
Al A T e BT RN R L SR B T
PIIY —

?‘%‘E_
@admiTwH2  BYEEIL w2
(c) Pact 2 (d) waat 1

108. "wRIdIeR’ B oA1?
(a) 3IferpRT oY (b) BRHEMT BT A
- [Be—fdhare § CIGIRIEEAR
| BIT o
(C)ATeTEet &7 Jerre  (d) TR 1 Yo

AN&TH 3PHYR |
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the following translated 300
EBT?TE?I% 09, Who among

T Ty 8 solumes of Sanskrit books collected by Firoz ?
T ruglaq during the campaign of Nagarkot? R o I el
[RTETT ) Azizuddin Khan — (b) Mulla Abdul Bagj (a) ST @ (b)Aeedl

©©) Mirza Muhammad  (d) Talib Amuli ©) fist mewe ol @ iferd 3Tl
9147 St Ali

10, dfreitfrre st s (@sst) Eaikg
forg Qe HIFDh HIFGS &7 ;
fa}mﬁ@ﬁﬁﬂﬁﬂ$ﬁ?ﬁﬁﬁ$wﬁr;m
(b) weira uRRefe® o= # 9guYT i S ©

110. gjological Oxygen Demand (BOD) is a standard

criteria for -

ST }v@suring O; level in blood

J . 5 aitafior 9 oifg @
’ (b) Pollution assay in aquatic ecosystems (c) 9= FHarg aret & |
(¢) Assaying O: level in high altitude regions i R e =T D
= | | (d) 71 TRReifee A aifRie B ®
(d) Computing O; level in forest ecosystems U @ forg .
E: %ﬁ' 111. With reference to Union Finance Commission, 111. {9 faw smar @ W. i
_ Lz which of the following statement/s is/are PITAT /W ST el 2 /87 1
5 correct? (1) fa<1 STAINT & U% Sezer o @ B &
ha BN 73 (1) Finance Commission has a Chairman and six (2) T8 3G ufgaes NS amanT & RS GGG
} members. 2
L — -
| (2) It submiits its report to the NITI Aayog. 1 Ry T @e § ¥ ¥ S BT A9
} Select the correct answer using the code given
below —
~ Code - Y g
(a) Only 2 (b) Neither 1 nor 2 (@) et 2 O a1 a2
(¢) Both 1 and 2 (d) Only 1 S 8 A | ) @ 1
Ga| 112. What was the name of the female Regiment  112. 3arsh Ty =7 Ay anl AN B2 B @
e constituted as a part of the Azad Hind Fauj by B & ®Y A e wfeer m BT RIT AT
Netaji Subhash Chandra Bose? i
P
(@) Rani Jhansi: (b) Veerangana B
Regiment Regiment @) M SR R (b) AR e
(C) Bharat Mata (d) Rani Bhabani =
| (©) IR AT IO (d) ) gy Yo
Regiment Regiment S wre
113: ' . i . ;
3 By which year the target of population stability  113. NG § S WT,.__EJE DT A& [HT g8
has been fixed in India? MEiRa fbar mar &2
(a) y
3 ear 2080 (b) Year 2070 (@) a8 2080 T (b) a§ 2070 7w
C) Year 2045 d
2 (d) Year 2075 {WZD-‘#S & (d) e 2075 T
[D-I-Zﬂ 153101 Page 21 of 32
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114. Given below are two statements, one is labelled
25 Assertion (A) and other is Reason (R) —
Assertion (A) —The Tamil Nadu coast remains dry

during South-West monsoon
season.

Reason (R) — The Tamil Nadu coast is situated
parallel to the Bay of Bengal branch
of South-West monsoon and it lies
in the rain shadow area of the
Arabian Sea branch of the South-
West monsoon during monsoon

season.

Select the correct answer using the code given
below —

Code -

(@) (A) is true but (R) is false

(b) Both (A) and (R) are true and (R) is correct
explanation of (A)

(¢) Both (A) and (R) is true but (R) is not correct
explanation of (A)

(d) (A) is false but (R) is true

115. Which of the following statement is correct?
(1) Ram Ganga river joins the Ganga at Kannauij.
(2) River Betwa joins the Yamuna near Prayagraj.
Select the correct answer using the code given
below —

Code -

(@) Only 2
(€) Neither 1 nor 2

116. As per Social Progress Index, released in

December, 2022, which of the following are on

top three positions in very high social progress in

Tier-1?

(a) Pondicherry,
Lakshadweep and
Goa

©) Kerala, Nagaland

and Meghalaya

117. The “Agend
nda —21” . :
to - 2=21" of Rio Summit, 1992 is related

(b) Both 1 and 2
(d) Only 1

(b) Mizoram, Himachal
Pradesh and Ladakh

(d) None of the above

4. 9= Q) Fom 2 Ry o 1 ANBAT (A) 3R
TR BN FRT (R) HET 14T & —

Ao (A) — SRo—ufem aFgE WeE @

SR affiesTg 9 Y&h & B |

PRI (R) — AT e 9 6 Erel & Il

T RY T Fe F 98 SR gfin —

Efi:?"_“

(@) (A) w = fb (R) Tora &

) 4%) 3iik (R) <1 w1 ¥, &R (R), (A) P A
RAT Bl & :

(€) (A) 3R (R) 1w &, Afh (R), (A) B TR
AR Aol Bl &

(d) (A) Tera & foieg (R) 9= &

15. Fr=feRad s § | 9 w1 981 27
{ﬂ?ﬁ“fﬂﬁﬁtﬂ%%?ﬁﬁﬁﬁﬁﬁ%ﬁ
|
(ﬂf&gﬂﬁwéﬁwwﬁﬁﬁaﬁ
t
= Ry T e I v s g -
aﬁ— .
(a) Bad 2 (b) S 1 7RI 2
R - B R o &
116. faxjay, 2022 % O G W Ga&Hi®

IR -1 #, Frfefaa & & o ffv 3=
rfore wifa 3§ oY A Rl w87 +
W,ammtmﬁw.%ﬂm
e yoel AR dErd
(©) e, MRS o ()G ¥ & e
HET RIS
17. Rar Rray e, 1992 1 "Tolel—21" Hae

@) Preservati 8-
: tion of A - :
| Conelayer (b) El:talmahle (a) IS TR B (b ¥t e |
Polluter — .- velopment HIRET]
Drincip]re Pays (d) Environmental (c) AR 4 UGS (d) q'ﬂ‘i'cl?ﬂT REm |
D-123 educatio B
1153107 L Rrgia @
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118. Trof
(a) |

(©)
119. On
Fir
fre

Br

(a

“120. ¢

121.

122




: 118. Trophic levels are formed by -

(a) Plants only (b) Carnivorous animals
only

(c) Organisms linked in (d) Animals only

food chain

119. on which of the following, proved charges the

Finance Minister Nadhim Zahawi was sacked
from the Government in February, 2023 by the
British P.M. Rishi Sunak?

(a) Disclosure of Secrecy(b) Sex Scandal

of the Cabinet

" (¢) Tax Scandal (d) None of the above

120. chandraprabha Wildlife Sanctuary is situated in
which district of Uttar Pradesh?

(b) Baharaich

(d) Lakhimpl:lr Khiri

(@) chandauli
(c) Sonbhadra

121. pesert dwelling animals are called -

(a) Arboreal animals  (P) Xericoles animals

(c) Terrestrial animals (d) Fossorial animals

122. with reference to the Attorney General of India,
which of the following statement/s is/are
correct?

(1) A person is appointed as Attorney General,
who is qualified to be appointed as a Judge of
the Supreme Court.

(2) The Attorney General can be removed

through the same process as the Judges of the

Supreme Court.
select the correct answer from the code given

118. Qig® R d9d & —

(a) et dEl | (b) et IEETT
STgell &
Wmﬁﬁﬁﬁ (d) Baat Sl I
3 dag B 9

119-W%ﬁaﬁﬁﬁ,mﬁiaﬁﬁ$mm
R, 5003 7Y ffew werEAr el AP &N
ey < 3 fre € e P EeT e

1

(@) WA B (b) ey EDUS
Mo | B
@ HINIT

(0) 2 wbvs () Sydad ¥ | PIg e

1EG~WWWWW$WW
¥ Rera &7

(a) a=aTen (oY TExTSa
(c) |T= (d) TREFR R
121. YRR 3 AT B dTel STd) hedd & —
[a)q&iﬂﬁ‘ﬁiﬂ'ﬁﬂ? [FTWWW
R EIEBSIRER (d) faet g9+ dTet SATFaR
122. YR & TR @ wed ¥, FrafaRad sert
SRR A & A L

(1) FEFIEEE) B UE W VS Ak B FYfe
ot o 5 Swaan WEed @ N
forra B9 @ forg aifea 811 —

{2}@@@&@@%%%%@%@

FETAT S ﬁmnﬁlﬁﬁmﬁﬂwﬁ

41 fou T HE W WE ST BT FIT DAY —

::d:a;h 1and 2 (b) Only 2 };é_ﬁlf 1 T 2 (b) e 2
(¢) Neither 1 nor 2 (d) Only 1 (c) = dr 17T 8 2 (d) waet 1
R oy 1

&




' U (A II
123. Given below are two statements, one is labelled 123 1R & FHom g, g & UH DI IAMHD (A) |

as Assertion (A) and other as Reason (R): 3R T B HRO (R) ®8T 14T & | _ [
Assertion (A) -12 Cheetahs arrived from South IFR (A) - BRa, 2023 5 12 DAt B R0 |
Africa to India in February, 2023. AfbHT | IR ATIT TAT el W |
Reason (R) - Restoring Cheetah population is - BRI (R) - Nl ) amaret @) HERAT 9T &) |
considered to be a priority for India. :_;f;' i S |
Select the correct answer using the code given f!_";l R Ry Be N FE TR BT I DHIIT —
EELDW— éq Fc —
ode - - o
(a) Both (A) a:d (R) are true but (R) is not correct (@) (A)3iR (R) W © ﬁﬁl (R), (A) CAS AT
explanation of (A) &l BHYar B
(b) Both (A) and (R) are true ang (R) is correct (b) (A) 3R (R) SFT e & ik (R), (A) BT F&
explanation of (A) . AT HIAT &
(©) (A) is false but (R) is trye o0 (oY {A) Tere feb=g (R) wer 2
(d) (A)is true but (R) is false & () (A) W1 # fobeg (R) Ter 2
124. Where was the ‘Sudarshan Prahar Army 124 fCHeR, 2022 & “Ye¥ werR V= apar- hal
Exercise” carried oyt in December, 20227 EM fear gy qT?
(@) Rajasthan (b) Gujarat (8) ST () TSRTT
(¢) Uttar Pradesh (d) Madhya Pradesh (C) ST yar (d) e gagr
25 Which of the following factor 's the most 125. fw=ifeiae & & B wr we Sta—fafderar @
Important factor for the lost of biodiversity? & &, fery Haiferes Hﬁﬁr{ﬂf HREb 27
(@) Control of predators (b) Destruction of %] (@) TRHiEr R foizor Oy Iisiis ar
natural habitat - : ERIN]
(€) Pest control (d) Genetic assimilation E ©) Ble g (@) i
STTCHHTCh T

126. Given below are two statements, one is labelled  126. w3y U E R VD BT AT (A) aife
as Assertion (A) and other as Reason (R) -

Assertion (A) — The President can recommend to Ao
Ali—
the Parliament to change the (A)

m :
boundary of any state after Cﬁ: N RTTRY] RTSCUf S &I T 2

¢
seeking views of the concerned - R zEe e JTafy e
Legislature of that state on the f‘! g 3 feemTee gRT 3¥Y
subject within specified period, | A R =R v @ sl
Reason (R) - It is not mandatory for the President & N g F |
to accept the prgpusa! of the BRI (R) — TR B 9 ST L
concerned State Legislature. .
Select the correct answer using the code given I T S el B
below - | %ﬁ‘?ﬂt{‘c@eﬁm“rwﬁgﬁq- s
(3) Both (A) and (R) are true and (R) is correct @ (A) 3R (R) T T § ik (R), (A) & ) 3
explanation of (A) AT T é_ _ |
(b) Both (A) and (R) are true but (R) is not correct (b) (A) 3T (R_) GRS f=g (R), (A) B T
explanation of (A) | el HYT §
(¢) (A) is false but (R) is true | ( _{A} e & g (R) we @
(d) (A) is true but (R) is false : (@) (A) 5 & ﬁ’T‘i (R) Tere &

(D-1-23] 153101 it T T
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127. consider the following events and arrange these
in correct chronological order starting from the
earliest to the last activity —

(1) Appointment of the Drafting Committee
(1) Indian Constitution was adopted and enact‘ed
(1) Date of commencement of Indian

Constitution

(IV) Constitution Assembly first met | /)
Select the correct answer from the code given

below — ,:i
Code - o~
(@ I, I, 1, IV (b) 1v, 1, 1M1, Il ™~
©) IV, 1,11, 1l (@) 1,11, 1V, 11 N

128. On 25 December, 2022, which of the following
countries extended mandatory Military Services
for one year to those males who were born after

01 January, 20057
(@) Myanmar - (b) Taiwan g
(¢) Sri Lanka (d) Afghanistan O

129. Given below are two statements, one is labglled
as Assertion (A) and other as Reason (R)—=
Assertion (A) — The President is a part of the

Parliament.

Reason (R) — A bill passed by the two Houses of
the Parliament cannot become a
law without the assent of the
President. i

Select the correct answer using the code giVen

below -

(@) Both (A) and (R) are true but (R) is not correct
explanation of (A)
(0) (A) is true but (R) is false
(©) (A) s false but (R) is true &
(d) Both (A) and (R) are true and (R) is cnﬁéct
explanation of (A) s
130- With reference to the Captain Hawking’s, which
of the following statements is correct?

(1) He came to India in 1611 as an envoy of
James - |.

(2) He was very well versed in Turkish language.
(a) Both 1 and 2 (b) Only 2

(©) Only 1 (d) Neither 1 nor 2

oY

e Al

(b) IV, I, 1L, Il
(d) 1, 11, IV, 1l

(@) i, I, 1, 1v
(e} v, 1, 11, i

128, 75 R, 2022 P, Freferad # € 104 <

(OFSIEEIE|
(d) STHITEI .

(a) "R
(c) cidT

129. ) 21 o € ROy 4 T @ WD (A)

3R TR BT PRI (R) Pl T & —
arﬁaasm{mrv/ru-;tr%wﬁzﬁmm%l
FRIT (R)— G9E @ aFl dadl gk uiRd faegd
ST o e B R T
& Hebell © |
9 fAU T @ &1 STANT b HEl SR Bl
T DI —
t%aﬁq(ﬂ)ﬁm%,ﬁaﬁ{n),m}aﬁﬂﬁ
AT el Pl &
(b) (A) T & =g (R) Terdl &
(©) (A) T & fog R)ET & -
d) (A)eiR (R) QT W & SR (R), (A) @1 WE
AT BT &

130. P Bifh=g zﬁﬂﬁﬁﬁ.ﬁﬁﬁ‘fﬁﬂﬁfﬁﬂﬁ‘fﬁﬁ

HIF AT FE BY ,
(W) 7E 16113 T — | B F@ @ B9 A
JAAT|
aggzﬁwmrﬁgﬁwmml
[ 1 <RI 2 (b) Pael 2
(c) Bt 1 A7 o 171 & 2
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following statement/s is/are correct?

(1) In the Legislative Council there may not be

more than one-third Mmembers of the total

Cnde-
(@) Both 1 and 2
(¢) Only 2

132. Who composed the Gold
| Song “Naatu Naaty”?
(@) S.S. Rajamouli (b) Devi Sri Prasad
(©) A.R. Rehman (9 M.M. Keeravani
& 133, \Which of the following sche
" Uttar Pradesh?
(1) Anuthee Uphar Scheme
(2) Matra Shakti Udyamita Scheme
(3) Kaushalya Matritva Scheme
(4) Stree Nidhi Scheme

Select the correct answer usin

(b) Neither 1nor?2
(d) only 1

en Globe Award winning

me/s is/are related to

g the code given

below -

Code -

(d) 2,3 and 4 (b) Both 2 and 3
©) Only 1 (d) Only 2

134 With reference to the Joint sitting of Parliament,

which Statement/s is/are correct?
(1) Article 109 provides for

both Houses In certain cas
(2) The Speaker

the joint sitting of
es.

Presides the joint sitting of the
fParliament.

31, With reference to the COmposition of the
B Legislative Council in a state of India, which of the

Eﬁﬁﬂmﬁ@niﬁwﬁgﬁjﬁﬁiﬁ?ﬁw.
ol 8 Wy ¥

{zlwmqﬁﬁmvﬁq—qﬁzﬁqﬁwm
VS sraew & B iR

%%wah;eﬁﬂﬁwzﬁrw%q-

a?::‘:—"
%IWZ - @) Far19m &2
©) Baer 2 (d) aa 1

132-%3@3%%?”%”%?@?*

@) THCHIST (b)) o s e

©) VIR, vgu (9 T G BRG]
133.%@Hﬁ@ﬁqﬁm/ﬁwm%
eferg & /87

(1) 37t SUER 2w
Q) ArafaT Sefar Hierr
(3 A VST
(4) = 9 2o
%ﬁqﬂwﬁ%ﬂ‘é’r?ﬂwﬁv—
az?f_
(b) Y 2 &R 3
A o 2
134-ﬁﬂaﬁﬁgwm¢1#ﬁﬁ,ﬁmﬁmawﬁ
4 P /Y BIT el B /87
(1)@3333@wnﬁﬁma?ra‘m‘mﬁaﬁ
\igAT 45% BT WIGUT By 2 | -
(2) 3t Sl 9 g 0w A orzEr <
BT & |

(a) 1
© Far 1978 -

(b) TMT 1 qerr 2
(d) PBaer 2




T (1977)
4 =1 wfafer afaae (
135. With reference to the recommendations of the | 195: darardt W1t W s el Tﬂ_ S e B
/8P Ashok Mehta Committee (1977) on Panchayati Gl U RawifRer & wef &
m‘*ﬂ‘ 9 Raj, which of the following statement/s is/are ¥ 31 B AT 2 /87

correct?
P Sawey

(1) The three tier system of Panchayati Raj should

. K
(1) AR 5T @ <l ety @raRen @ I
be replaced by the two tier system.

fe¥aIa araver &) =Ry | L
: (2) A block should be the first point for el s
?Irﬁraﬁ;q f decentralization under Popular supervision )R T ; %ﬁ aif2v |
_,' below the state level|. 1333:&‘535?“1 PI HIH ﬁ!‘g AT ST
?ﬁ?r(;r |' Select the correct answer using the code given g faw o He ¥ Hel SO BT gIq PIforT —
B below —
Code - RE 3
: - (a) Only 1 (b) Both 1 and 2 (@) B 1 ; fm 2
() Only 2 (d) Neither 1 nor 2 (¢) dgeT 2 daFari1ar &2 _
i 1°5. Eastern boundary of the Harappa culture js  136. F=iferfaa & 9 a9 ESHI &P B ﬁm
2D indicated by which of the following? $1 fAERoT Bear 22
(@) Manda () Alamgirpur (a) HrUET “?/3”5““”333
(¢) Rakhigarhi (d) Harappa (¢) RS (@) ggwr
: N £
137. What s the-theme of the International Day for 137. 2022-23 & foru Y SHAT & ferv STRIENY
Bl the Eradication of Poverty for 2022-23? ST &1 fgg o 22
(@) “Dignity for all'in practice.” @) “ATER ¥ B ferg. arfRe {
(D) ”Acceferating. global actions for a world ©) "N & o E“'z” & df¥as Pl # ol
without poverty.” ofr=T |
I, (c) “Coming together to end poverty and [cf'} AT 3R 1SHI9 I B D %W SP ¥Ry -
," discrimination,” 2 E ;” 3 2 .F |
/ (d) “Acting together to empower children, their { }3ﬁ'{ ; ﬁm ﬁ:{q :Efili%rq o
families and ities to end rty.”
| milies an cammun.: 'es to end poverty L3 d "
138. Which type of vaccine protect against 138 f&y gy oy T feefitar & 47T 2?
|lI ' i =, 3 ' 4 ]
.- gt U1 | (@) favargs b) wM5T sfres
/ (@) Toxoid (b) Live-attenuated (©) v 30 @
,=' (€) mRNA (d) Viral Vector N E |
! 139. With reference to the E.V. Ramaswami Nayakar, 139. & XM ARy o e ¥, Frefifg PP
/ which of the following  statement/s is/are H 9 Prr Vs i Vi 7,
| correct? ; - " gk Y
a' (1) He Participated in the Non - Cooperation (1) _ _ ‘” T 3 Bl fera |
| Mover (2) = 1925 ¥ ity wye |
,a' (2) He left the congress in 1925 A fey g RE B W TS wd e
Select the correct answer using the code given <
below —
Code - e =
.* (@) Neither 1nor2  (b) Only 2 BFdrimds BI 2
(%) Both 1 and 2 (d) Only 1 (©) T 171 2 (@) Bt 1

[D-1-23] 15310}
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A 140 pmatch list-1 with list-ll gy select
f answer using the code Biven
List—1
(Mountain)
(A) Kilimanjaro
(B) Toubkal
f. (C) Stanley
(D) Hoggar
Code -

(@) A-(4), B-(2), c-(3 ), D-(1)
.f': (b) A-(3), B-(4), C-(1), D-(2)

*(4), D-(2)

the correct
hl‘;‘-lnw -—

List-1y

{fﬂuntries}
(1) Morocco
(2) Algeria
(3) Tanzama

(4) Ugands

€nergy Sources, that

are -
(a) Produced from

(c) 123 (d) 82

143. ‘Ozone layer’ absorbing ultra - violet radiation
€xists in which of the atmospheric layer?
(@) Troposphere
(c) Thermosphere

(b) Mesosphere
(d) Stratosphere
144. What caused wind to deflect.
Southern Hemisphere?
(@) Temperature
(¢) Magnetic Field

towards left in

(b) Pressure
(d) Coriolis force
5. Which one of the following is the main objective
of Janani Suraksha Yojana? f
(3) Reduction in neo-natal mortality rate only
() Reduction in
mortality rate

maternal and neo-natal

(€) Reduction in infant mortality rate only

(d) Reduction IN maternal mortality rate only

140,

141,

142,

143.

144,

145.

ﬁﬂ-“qmzﬁ i
A"

A0

T~ ey A1 | AT ﬁm

T Ry g HE A WE ST
STE—

‘Z’ A-(4), B-(2), c-(3), D-(2)

3), B-(9), C-(1), D-(2)
A-(3), B-(1), C-(4), D-(2)
D A-(a) B-(3), c-(2), D-(1)
’?Ejﬁ'ri*trﬁaa

—————— —————

(c)

Wﬂﬁ.znzamwmﬁ"wwﬁg
Wﬁwzﬁnﬁ%?

(@) 149 (b) 57

() 123 (d) 87

T Rfror 71 o @2 e Ao
A P9 arpisay wor § Rerd 87

(8) &y Wi (b) e Hea

() qI9 Wee (S T HS

ST TGS & g By aRe oiR PR B @
4T BRYT B?

(@) TT9HT

(8) et TIATT HG IR W HH
Wawwﬁﬂwﬁw
(©) Faet Ry 7Y ) # '
(d) padt AIJ GG R H B
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Gati Shakti Scheme’s T oy apor W€l B/ 8 @ 2022
b i} & o, g il P

6.
> which of the following stateme
ect? B
i}:;r:'hePM Gati Shakti Scheme-National Plan was i T'I'HT_ ! aq olle [‘F‘aﬁsﬁ) |
jaunched in 2022. (2) g raEEl E1E mthé Wﬂ_@ o
(2) The pM Gati Shakti scheme pertains to seven T gﬁ:ﬁ (qq'gfﬁ ¥el, U ! W
engines (Roads, Railways, Airports, Pc:r'_tfu B i'ﬂtFﬁ | m-rﬁ afiR | o
Mass Transport, Waterways, Logistics eaY) @ AR R q1.¢H.
infrastructure). NIP will be aligned with PM SERE '1“ s T |
Gati Shakti Framework. gifeT @i TS ?f[ 32
select the correct answer from the code given feperferiad ®C g el ST
below — a,z,_-; —
Cocer @) A AT 2 (o) A 2
fE] NEfthEF 1 nor 2 (b) i.'r.l}l'""l_.I" 2 {E] 13.ﬁq ) {d] EF]-E-H 1.
(c) Both 1 and 2 (d) Only 1 . o < R Ral
147. With reference to the Puranas, which one of the 147. ?T"ﬁ P WG #,
- W "l)
following statements Is correct? HEl B
{Hﬁrﬂg@ﬂﬁﬁﬂﬁmﬁw%i

(1) Information about the Mauryan dynasty is

found in the Vishnu Puran. ({EJ,E'E

(2) vay:r:urir; t::z-ws light on the Gupta’s s
governan em.
: b 1
(a) Both 1 and 2 (b) Only 1 (a) ST 1 7RI 2 '1[;} fﬁﬂjﬁ s
(c) Only 2 (d) Neither 1 nor 2 W 2 ) 1
148. PreafefRae & @ @9 @ gW (€ — TERD)

148. Which of the following pairs (School of Thought —
Proponent) is correctly matched? o Faferd 39

(a) Uttara Mimansa— (b) Mimansa — Kanada | |
Kapila W SiaT — B () FHET — 6vd (F9)
(o) Nyaya=Gauiams () = — () A9 - e

(d) Vaisheshika —
Patanjali
149. ‘“Mount Newman’ is famous for which of the 148 HSUS < fefeiad | 9 fod ot @ felg

following minerals? qRIE ©°
(a) Copper (b) Manganese (@) e () HATHI
(¢) Iron ore (d) Bauxite (€) e 3D () s
150. Who among the following has authored the book 150 fewferRad ¥ 9 e s XA ferel &7
(b) fg Bl

Spare”? w :

(@) King Charles (b) Prince Harry
(€) Prince Williams (d) Prince Phillip ) fﬁ?’f faferae
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